
PHY2054 QUIZ 
Please Print Clearly  

Instructions: 
•You have 20 minutes to complete this quiz.

•Show your work in the space provided for each question. Writing a 

correct answer without showing work will not earn credit. 

•Include correct units for final numerical answers.

•Do not use or refer to any additional paper or resources other than 

what is provided during the quiz by the instructor.

•You may use a non-programmable scientific calculator. You may not 

use an app or program on a smartphone, tablet, or laptop.

•Do not discuss the contents of this quiz or your answers with anyone. 

Preserve the integrity of the testing environment:


•Remove any hats or hoods, unless this direction interferes with religious 
customs.


•Please keep noises and distractions to a minimum. 

•Silence and stow your cellphone

Submitting your quiz:


•When you are finished, return all provided materials to your instructor. 




Submitting your quiz for evaluation signifies your understanding and 
compliance of the instructions above, and that you completed the quiz 
according to the standards and intentions defined by the Honor Code, 
including that you neither provided nor received assistance answering 
the following quiz questions. 
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Kinematics and GeometryFundamental Principles

Fundamental Constants

Prefixes

f

p

n

µ

m

c

k

M

G

Δ ⃗p = ⃗F netΔt ⃗p = m ⃗v

⃗F net = m ⃗a vf,x = vi,x + axΔt
v2

f,x = v2
i,x + 2axΔx

xf = xi + vi,xΔt +
1
2

ax(Δt)2

xf = xi + vxΔt
Acirc = πR2

Asphere = 4πR2

⃗F el = q ⃗E net

Fg = mg

ΔUel = qΔV

K =
1
2

mv2

EQ =
1

4πϵ0

Q
r2

Ecap =
Q /A
ϵ0

E =
ΔV
d

V(r) =
1

4πϵ0

Q
r

ΔV = IR

I =
Δq
Δt

= neAvd

C = κϵ0
A
d

Q = CΔV

R = ρ
L
A

Ucap =
1
2

C(ΔV )2

uE =
1
2

κϵ0E2

g = 9.8 m/s2

k =
1

4πϵ0
= 9.0 × 109 Nm2/C2

ϵ0 = 8.85 × 10−12 C2/(Nm2)
melectron = 9.1 × 10−31 kg

mn ≈ mp = 1.7 × 10−27 kg

e = 1.6 × 10−19 C

ΔUel = − Wfield
Fel = k

qQ
r2

10−15

10−12

10−9

10−6

10−3

10−2

103

106

109

P = IΔV =
ΔU
Δt

1eV = 1.6 × 10−19 J

ac =
v2

R

El
ec

tro
st

at
ic

s

Circuits
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